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26,

Assertion (A) : Break down of
marriage a5 such is not a
ground for Divorce.

Reason (R) : It may result into an
exsy way of dissolution of
marriage and shall result into
instability i the soctety.

(A} Both(A) and {R) are correct.

iB) {A) 15 comect, but (R} is
Incorrect.

(Cy Both (A) and (R) are wrong.

(D} (R} 15 correct, but (A} is
WEORE.

Dastane: ¥s. Dastane 15 8 case
decided by the Supreme Court
relating to :

(A} Adultery

(B} Dessertion

(Cy  Cruelty

(Dy None of the above

Mamages of all persons who ware

citizens of India belonging 1o vanous

religions  should by made

compulsory  registrable  in their

respective States where the marriage

1s solemmised. This was held by the

Supreme Courl in the case of :

(A) Githa Harihamn Vs, RE]

(B} Seema Vs Ashwani Kunyar

(Cy  John Vallamathom Vs, Union
of India

(D} None of the above

Assertion (A) : The Hindu Mamage
Act, 1955 brought changes like
prohibition of polygamy and
prigamy and permission for
Inter-caste maTiages.

Reason (R} : The changes were
brought under social pressure.

Codes :

(A) Both (A) and (R) are true and
iR) is comect explanation of
(A)

(By Both {A) and (R) are true but
iR} is mol the comect
explanation of (A}

(Cy (Al is correct but (R) is false.

(D) (A)is false but (R) is true.

7.

An agreement made by mistake is
{A) Void (B} Voidable
(€] Illegal (D} Immoral

Which of the following statements

are trug 7

i} Minor's contract can be
ratified on attaining majority.

{ity Minor's contract cannot be
ratified on attaining nizjority.

{1if) Minor’s contract cam be
ratified jointly by both the
parties to the contracl.

{iv) Minor s not liable under
mnor's contract.

Codes :

(A) (i)and (i)

(B) (ii) and (iv)

(Ci (i) and (i)

(D (i1) and (i}

Assertion (A} : Damages must be
related to damage.

Reason (R) @ Damage b= damaging
and damages are compensating.

Codes :

{A) Both {(A) and (R) are true. but
(R) is not comect explanstion
of (A).

(B} Both (A) and (R) are true, and
(R} is comrect explanation of (A ).

(€} (A)is true, but (R) is false.

(DY (A)is false. but (R) 15 true.

Arrange the following concepts in

sequence in which they appeared.

Use the codes given below :

i} Offerbyxtoy

{iiy  Undue influence of x overy

{iif) Demand of damages by v
from x

{iv} = Acceptance of the offer by y.

Codes :

(A) (i) (if) i) (iv)

(B} (i (iv) (il (u)

(€) (i) (D) G} (i)

(DY (W) vy (0 (i)
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32.

33

Which one of the following pairs is

correctly matched ?

(A) In India. consideration st
follow. ._.from promisee only.

By In India. comsideration nwst
follow. ... from only promisor

of only promisee.
(C) In India, consideration musl

[SO1L.
(DY In India. comsideration st

follow....promisee  or __ any
other persomn.

Assertion (A
transaclions 1o
agreements are valid.

Reason (R} Only wagenng
agreements are deelered void
under Section 30 of the Indian
Conlract Act.

Codes :

(A} (Abdis e, but {R) 15 false.

(B} (A)isfalse, but (R} is true.

(C)y Both (A) and {R) are true. but
{R) 1s not comect explanation
of (AL

(D} Both (A) and (R) are tue and
{R} s correct explanation of (A}

Collateral

wagering

Lizbility in torts depends on

(A} guantom of damages suffered
iB) involvement of intention

iCy infringement of legal right
(D} effect of public interest

Which of the following ingredients

are essential 1o make master liable

for the acts of the servant 7

(1) Tort was commutted by the
servant.

(2) Tort was committed in the
course of emplovment.

(3) Express authority was given by
naster.

4y Master has knowledze of all
constituent offers of Lo

Codes :

(A} 1,23 (B 1,2.4

€y 3.4 Dy 1.2

35,

M.

Which of the following i1 an

essential constituent of neglipence 7

(1} Defendant was wnder or legal
duty to exercise due care

{2} This duty was owed to plantiff

{3) Defendam committed breach
of such duty

{4) That the breach of such duty
was the direct and proximate
cause of the damage alleged.

Codes :

(A} 1, 2and3

By 1,2 3md4

(€C) 2,3and4

Dy 1.2and4

Which one of the following is not a

pood defence in suits for damages or

negligence 7

{A) Contributery Negligence

iB) Express contract with plantiff

{C)  Express contract where statute
prohibits

(I Voluntary assumptions of risk

Mawch List -1 with List — II and

select the cormect answer using the

codes given below the lists

List -1 List - I1
{a} Rayland Vs 1. Compensation
Fletcher for pain and
suffering

(b} Doneghue V' 2. Loss caused by

Stevenson Competition in
business
(o) Gludster 3. Srrict liability
Grammer
School Case

(d) Rose Vs, 4. Liability of

Ford minor for tests
5. Liability for
negligence

Codes :

@ M (e} (d)
(A 1 2 3 4
By 2 3 4 5
iy 3 5 2 1
m 3 4 2 1
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38, Assertion (A) : Tort is a civil wrong

34,

redressible by an action for
unliguidated damages only.

Reason (R} : Law does not provide
compensation in the nature of
liguidated damages:

s :
iA} Both (A) and (R) are wue and
(R} is comect explanation of

A,

(B} iilulh {A) and (R} are true but
(R} is not the comecl
explanation of (A),

(Cy  (A}istme but (R} is false.

(D) {A)is false but (R) is true.

2" while walking slong a deserted

road at night during winter saw a Elsi

bom baby sbandoned on a side. For

a moment be realized that he could

save the baby without appreciable

trouble, expense or loss of his time

and also fall lJ;:i if the Fl:l:“h s Ilfﬁ

over unprolected, it might die. But

he did nﬁing and wmtiway.

‘P" ancther person  also  passed

through that road and saw the baby

and acted just like *Z' and went

away. Mext moming the infant baby

diedl of exposure. }

Decide who is responsible 7

(AY Only "Z" who saw first

(By ‘F* for omitting tw be
compassionale

(Cy  Both L and ‘P’ for neglicence

(Dy Meither 2" nor P is
responsible

Decide on whom criminal liability

can be fixed on the following

The accused 'P' caught hold of the
victim and exhorted on the main
actuseuih_‘L!‘l lt'nr; st?lkfa::l.he victim:
uponr whic inflicted a Kkirpan
E{g&mﬂ and consequently the victim

Assertions ]

ity “P7is liable for punishment.

tirp ‘P’ and ‘L’ are both liable for

. Common intention.

iy P and L' care  both
responsible for victims death

. for having common object.

(iv) ‘P’ 15 mot hable for any
offence.

A s it possibh

(A} (i)} 15 quite possible

(B ﬁfl 15 reasonable

!C% {ii1) 1s as occasion demands
(Dy (iv) is most accurate

41.

‘M & gquack, an uneducated in
matters of surgery. had performed an
operation on a man for intemnal piles
with the help of ordinary Knife,
unlike previous occasions, for which
the man died due 1o haemorrhage.
Deecide on “M™s liability.

(i) ‘M is a recognised quack and
hence not liable,

(i) *M"'s profession is not legally
scceptable hence liable.

{rig) ‘M’ is not Hable because the
man consented  for  such
operation.

{iv}) M’ 1s not hable because it was
i post — operational syndrome

The probable answer is :

{A)  Statement (i) is comect

{B) Statement (i1] 15 correct

{C)  Statement (111} 15 correct

(I Sratement (iii) and (iv) are
correct

Fill in the gap-

‘P" in support of a just claim of Q)
has stated against “Z', for a sum of
Rupees one thousand and falsely
sweared on a trial that he heard 2’
admitted a5 to the just claim of ).
The count decides that it was an
affirmation of .

(A) Statement of truth

{B) False evidence

{C)  Making a declaration

(I None of them

One of the essentials of holding a

person responsible. for dowry death

is

{A) sobjected 1o harassment by
peer groups.

(B} subjected 1o harassment for
dowry

{C) subjected to harassment under
suspicious circumstances

(I All of them
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47.

Fill in the gap :

An act of grievous hurt is always

inferred  through  enormity o
and not merely a slight

more than & frolic.

(A) Murder

B} Bodily injury
iC)  Ampuiation
(D} All of them

Assertion (A) : Before Bangalore
Water Supply case educational
institutions  were  excluded
from the definition of an
ndustry.

Reason (R) : Main purpose of such
mnstitutions 15 0 impar
education, and not o run
business or trade.

Codes :

(A) Both (A) and (R} are tree and
{R) is the comect explanation.

(B} Both (A} and (R) are true but
{(R] 15 not the comect
explanation.

(Cy  (A)istme but (R)is false,

(D} (A)is false but (R) is true.

An  individual dispute becomes

industrial dispute when it 15 taken up

by

iA) Union only.

(By Umion or substantial number of
workmen.

iCy  Continuous support of union.

D} Subsequent support of union.

Which of the following statements

are true 7

L All emplovees are workmen,

IL All emplovees are not
workmen.

1. All workmen are emplovees,

IV. All managerial staff are
workmen.

Codes :

iA} land Il

iBy Iland HI

(Cy IMand IV

(D} Fand I

48. In which of the following cases the

49.

Supreme Couri held that medical
representative is not workman 7

{A) Standard Vacuum Ol
Company V. Commissioner of
Labour

(B) Anand Bazar Patrika V. Iis
Workmen

(C) Workmen V. Greaves Cotton
& Co,

(Dy 1 & J Dechane V. State of
Kerala

Which ore of the following

statement is true 7

(A) The general funds of a

registered trade union shall not
be spent on the payment of
salanes.

(B! A registered Trade union may
constitule @ separate fund for
the promotion of the civic and
political interests.

(C) No appeal lies against the
order of refusal of the
Registrar o register a Trade
uniom.

(I Every registered Trade Union
shall not be a body corporate.

Match List — T with List — II and
select the correct answer using the

codes given below
List -1 List - T1
i Subject) {Provisions of
Trade Union
Act, 1926)
(i) Appoimment [. Section 24
of Registrar
(i} Appeal 2. Section 10
(i) Amalgamation 3. Section 3
of Trade
Unions
i(1v) Cancellaion 4. Section 11
of registration
Codes :
(1) (1) iy ()
(A) 2 4 1 3
B, 4 1 3 2
© 3 4 1 2
m 1 3 2 1
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The Supreme Court held in which of
the following cases that preamble is
not the pant of the Constitution of
India

iA} Berubari case

(B} A K. Gopalan case

(C) Balaji Case

Dy Minerva Mill's case

Article 16{4A) which gives power 1o
the State 1o muake laws reganding
reservation in favour of Scheduled
Castes and Scheduled Tribes was

added by the

(Ap 75"  Amendment 1o the
Constitution of India.

iBy 76% Amendment to the
Constitution of India.

(Cy 77 Amendment to the
Constitution of India,

(D) 78" Amendment to the

Constitution of India.

The protection and improvement of
environmen! including forests and
wild life of the country is

iA) Directive Prnciple of State
Policy

Fundamental National Policy
Fundamental Duty of a Citizen
Both Directive Principle of
State Policy and Fundamental
Duty of a Citizen

B
(Ch
()

Origimally  the  Supreme
consisted of a Chief Justice and
iA) Seven other judges

iBy Twelve other judges

(Cy  Thirteen other judges

D} Fifteen other judges

Court

A resplution passed under Clause (1)
of Article 249 shall remain in force
for such period not exceeding

(A) Three months

(Bl Six months

{C)  Nine months

(I Twelve months

The President’s mule under Article
356 of the Constitution of India
remains wvalid in the State for
maximum period of

(A} Ome month
(Bl Three months
(€1 Six months
D Ome year

The power of the Parliament o
a mend the Constitution of India is a
constituent power laid down in
Article 368 by

{A) Twenty Fourth Amendment
Act

Twenty Sixth Amendment Act
Forty Second Amendment Act
Forty Fourth Amendment Act

(B}
{C)
(I

‘Junsprudence is as big as law and
bigger’. who said this ?

(A)  Austin
(B} Lloyds
(C1 Lewellyn
(D Holland

“Rousseau is a Janus like figure in
the history of national law™ — who
said this 7

{A) Hobbes

(B) 1.5 Mill

iC} Locke

(D Barker
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10, Match List-I (Jurist) with List-II

11.

12.

iAssumption) and select the comrect
answer using the codes given below
the lists :

List -1 List — 11

L Acquinars {a) Jural postulates

. Pound {b) Spint of people

1. Kelsen {c) Ground norm

IV. Savigny  (d) Reasonand
will in law

Codes :

I o m IV

Ay (b} (d)y e} (a)
By idy (b)y dcy (a)
€y by (dy fa) (c)
(D) (dy (b {a) (e)

Match List-I with List-II and select
the correct answer using the codes

given below the lists
List—1 List — 1
. Lawina {2} Fuller
changing
sociery
. HumanLaw (b) Friedmann
and Hurnan
Justice
L. The morality {c} Stone
of law
IV. Ancient law  (d) Main
Codes :
I B W\

(A} fa) (e} (b (d)
(B)y {cy fa) by (d)
(Cy (b} (=) (d) (c)
Dy @ M (e

Which one of the following schools
of Jurisprudence considers that “a
reasoned scale of values can be
discovered as a basis for legal
development™ 7

(A} Sociological

iB} Historical

(Cy  Amnalytical

iD}  Philosophical

13

14.

15.

According  to  Salmond,  the
correlative of liberty is

(A) Duty

iB} Nornghts

{C) Subjection

(D Disabilities

Assertion (A) : Cusioms o have the

force of law must be
immemoriad.

Reason (R) : Custom represents
common  consciousness  of
people.

Codes :

{A) Both (A} and (R} are true and
(R} is the comrect explanation
of (A).

(Bt Both (A) and (B} are true and
(R} is not a correct explanation
of (A),

{C} {A)is true, but (R) 1s false.

(DY (A)is false, but (R) is true.

Assertion (A) : Intermational Count
of Justice has power to decide
cases on the basis of equity

Reason (R) : Equity is cne of the
General Principles of Law
recognized by  Civilized
Nations,

Codes :

{A) Both (A) and (R) are true and
(R} 15 comect explanation of
(&)

{B) Both (A} and (R) are true. but
(R} is not a correct explanation
of (A).

{C) (A)is troe. bul (R) is false.

(D (A is false. but (R} 15 true.



1.

11.

12

T — | (At = g - 1 (9 %

= T it S g e e
T T T A 5 T S 0 -
T -1 w11
I TEEE (W TR RIS
I w&s (&) o e

. ¥ @) §999%

V. s = T & S o
=

B

| I il v
Ay m m = (=
By 9 | (@M ;M
() & H (=3 &
i m m (=3 ®

T - | WA - U F A e
F g F TN =
ST =T B W 5 9
T -1 i - I
L === @ @9 A (7 T
fary
I =7a fafs s @ W

HFE =S
I Tams = s @ =
IV, ot faf m &

ET4H

1 Il I v
Ay (= = @ ®
By =m (=m M (o
iy M (= m (=
D & m m ()
e 7 9 Fm @ v faeme =
TSI SE T R - CTAT
faEre & e F T R A A
WU U A A e
(A} FAT= By miweraEE
0y favemmess (D) s

13

14.

15.

A

qETT ¥ WEW EeEW W
T HRA W

(A) i

(B) =t s =

(C) wreaT

o

(D) FrrEn

sfveeas (A) ;. =l = g = oaw
=TT |

Y (R) - EE I SE F A
1 i ez ol

HE

(A) =T {A) =7 (R) =81 & =7 (R)
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16. Match List-I-with List-1I
List -1 List - 11
{Subject Matter) {Cases)
{a) Internattonal 1) 8. 5. Lotus

Custom (Framce v.
Turkey)
PCL, Seres
AL No. 10
ibiBes Judicata (i) UL N.
Administrative
Tribunal case,
International
Law Reports,
1954, F. 310
(c)Legal status of (i) Western
General Sahara Case,
Assembly Advisory
Resolutions Opinion. ICJ
on Rep.. 1975,
decolomzation P12
and self
determination
(dyHuman (iviLawless Case,
Rights American
Journal of
Inlernational
Law. Yol. 56,
1962, P. 187
Codes :
fa) (b} dc) (d)
(A (1) (i) C(ii) {(1v)

By i) (1) (iD) (iv)
(Cy (mi) (i) (i) (iv}
(D) (iv) (i) (|i) o (3)

17. U. N. Commission on Human Rights
has been discarded and replaced by
iA} Economic, Social and Cultural

Rights Committes
(B} Amnesty International
(Cy  Human Rights Commitiee
D} Human Rights Cooncil

18. Which of the following is not a
primary source of International Law 7
(A) Intemational Treaty
By Decision of Intemational Coort
of Justice
(C)  Intemational Custom
(D} General Principle of Law
recognized by Civilized Nations

19.

1.

Which of the following cases relates

to retroactive nature of the acl of

recognition of government 7

(A} Aksionairnoye Obschesiro A,
M. Luthar V. James Sagor &
Co. (1921} 3 K.B. P. 532

{B) Trendiex Trading Corporation
Y. Central Bank of Nigeria.
{1977y B. P. 529

(C) Ceniral Air Transport Inc. V.
Central Adr Transport
Corporation. (1953) A. C. P.

70
(D) Nicaragua V. USA. ICI
Rep.. 1984, P. 169,

In a case concerming the legahty of

the Threst or use of Nuclear

Weapons, the International Court of

Justice gave advisory opinion at the

request of -

{A) UN. Secunty Council

{B) U.N. Genperal Assembly

(€] World Health Organization

(DY United Nations Educational
and Cultural Organization

Which is not the modern source of
Hindu Law ?
{A) Eguity, Justice and Good

Conscience
{B) Precedent
(C) St
{IM Legislation

Consider the following propositions

and give the correct answer

L A vod momiage remains valid
until a decree annulling it has been
passed by 4 competent court.

IL A void marriage 15 never a
valid marriage and there 1s no
necessity - of  any  decree
annulling it.

O, A voidsble mamage s
regarded as a valid mariage
until & decree annulling it has
been passad by a competent court.

Codes :

(A) I I and IOT are correct

{B) land I are correct

{C) 11 and IIT are correct

(D 1and I are comect



16.

17.

18.

T — | A — 1 F WY AT -

i o | wt - 11
(Forera oty @
(1) SEm (1) UH UW RN

o @ aﬂ% =,
T W - 10
1) m (i Eﬂr&“:mm
b o
(74 feiy 3@Rm fafs
s, 1us4,

3
(el Tﬂﬁlﬁ?ﬁ (Eiid TERT

Fﬂﬁuﬂw Q'sﬁrsf:l?'i

T T, A

w we @ ® e,

= FEA 175,912
) FEEE (V) WieE

HATEA  HH

HE ‘;-'ET'!W

o W o 6,

1962, 7. 187
Ez'-

() (b)y (e3 (d)
1 iy i) vy
(By (i) Gy (md) (iv)
(Cy (mi) (i) (1) (i)
iDr fiv) (i (i) (0

T ST e
T TR
(A) =TE FETEE A A
A AE
(B) T T
(C)  wFEmT T
D) AFETET 9y
A R T o B s e e
FET
(A} ST @t
B} =TT v
(C) g =i
(D) =7 T wET A e wE

I

19,

11.

TRt ® 9 S e W A

oI A F T Opwee o w

et

(A) UFTEEEES AR T T
i B o - o
(1921) 3 K.B. 9531

-

iB) ?;'EE?? I e B
e AEA & (1977)
QH T..529

(C) F#r wm Feaea e
FH AT WIART L (1953)
AC T70

(D) s W ogmEm I
T 1984, 7. 164,

WH&MWW miﬁw

T HEETE AT R, ST e A

iﬁ:‘ﬂﬂ"f’ﬁ'ﬂ’l‘ﬂ?ﬂ?ﬁﬁ?ﬁﬂmq

(A) TR T T T

{B) HH 0% FEr

(C) Tores waresg |re

(D) =gm 7% wE T AR
A

Fﬁmﬂ:rﬂm‘qhm#mwaﬁiu
{A) mmm%mw
By T

(C) g

(DY T

it G e e Dot o B A el
A AR E T

L v P e e A T o

IL v e i e oo =t

Il grasors fam = 7% 5% 49

T T 3 e
=1 fo i =8 F= E
FE:

(AY I U E R
(B) 'HFIEEE |
(€1 I AT FEE )
(DY | sl =& E |



a7,

41.

. Un authorized access to com-

puters is called ———,

(i} other than those given as
oplions

{2) hacking

{3} bkasting

{4} a worm

[5) a virus

A siore(s) data in two
tmensional tables,

(1} Hierarchial Database

[2) Relational dalabase

[3) Table database

(4} Network and Hierarchial
{5) Network Datibase
Collecting persomal infosrmia-
ton and effectively posing as
another individuals is known
as the crime of ———.

(1) spaafing

(2] identity thelt

(3] hacking

{4] personality theit

[3] spocling

Boolmarks can be organized
by Lsing =

1) Contaimers (2] Folders

13) Menus {4]) Tubles

15 Structures

Whal mark up language in-
cludes all of the features of
HTML and programming ex-
tension?

(1] applets [2) HTTP
(3} SML [4) XML,
(5] FTP

A lable in a relational data-
base terminology is synony-
mious with
1) A value
[2) A row
3 An aturibute

14} A Column

{3} A relation

Metadaia does not enable da-
tabase designers and users to

(1) Understand what the data
IMesn.

{2} Know whal the fine dis-

47.

. -Aln}

(3} Understanding what does
exist

14) Sample data

5) Know mare about the data

Which of the following 15 tree

of Client-side exiension?

They add functionaily it to

thee ;

{1} metwork (2] server

(3] browser [4] firewall

[5) firewall and network

is a method that

will automatically execule

when an object Is instanti-

ated,

(1) inheritor

{2} parameter

{3) destructor

{4} constructor

13) overloaded method

+ An internet diary or grouping

of ongoing commentarics is
known as a (n}l——,

(1] blog

{2) electronic mail

3] mailbox

[4) cockic

{5) plug-in

Gain entry to a network pre-
tending fo be at a legitimate
computer is reffered o as —

{1} 1D theft

(2} Network gate-crashing

(3] Spooling

[4) 1P apocling

(5] Forging

A program that performs a
useful task while simulta-
neousty allowing destractive
acts s a .

[1) Micro virus

(2) Virus

{3} Trojan horse

14} Wosmn

(3} Macro virus

When you visit certain web
gites spyware mav be auto-
matically dosmioaded. This is
called a
{1} drive by download
(2} logie bomb

[3) spy kot

[4] drive in download

[5] wvires,

The program that allows the

05 to work with a printer or

a video card is a (n)

{1} utility 2] dirtwer

(3] applet {4} contracier

[5) system call.

A ROLLBACK command in a

transaction ——,

(1} Undocs the cffects of the
lagt UPDATE eotrunand

{2) Restores the current of the
database 10 ils stale at the
end of the provious day.,

(3} Does nothing.

{4} Makes sure- that all
changes Lo the database
are in effect,

{51 Undoes afl changes fo the
database resultng from the
execution of the tranaac.
Lo,

refers to the contract-

ing of a specific business task

lo & third parly service pro-
vider,

(1) Outssurcing

(2} Offshore outsourcing

{3} Insourcing

{4} Business process
outsourcing

(5} Cross-functioning

[ Key|

1. 18] 2. 02 3.3 4@

5. (1] L T2 8(1)

8. (1] B ] 1.3 | 133

1308 | 1401 | 18,03 | 1601

17, (50| 18.05 | 1831 | 204

21. (50| 2200 | 23021 | 2402}

25. (10 | 248.01) | 2744}

28, (1) | DO | L3 | =2 (1)

3305 | 2405 | 3503 | 3813

37,02} | 38.(2) | 38.(4) | 0. (5

L (4] ) 4203 | 43 04) | 44 (1)

AS. 4] 48 (3 ] 47 (1] 4813

48450 | B0 sl
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